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Problem Description:

The measurement known as transmitted carrier power is used by the RNC to determine the downlink loading. With fast downlink power control running in the Node B this is the only measure of total loading available for any algorithms that may require an indication of the available power remaining in the Node B, e.g. admission control, scheduling etc.

When the requirement was written it was always seen as a ratio of total available power and the current output power. However when RAN 4 started to write a test for the requirement it soon became apparent that the current wording in [1] has lead to an incorrect interpretation of the requirement.

The problems RAN 4 is having, relate to the measurement accuracies of both the test equipment and the Node B. The maximum output power is specified as +- 2dB, with an additional 0.8 dB added in the test specifications to allow for test tolerances. Absolute output power for a given code will have a wider tolerance to allow for other practical limitations, e.g. CPICH power is +- 2.1 dB. Therefore when making RF measurements to validate the 5% accuracy (0.2 dB) it is not clear how the measurement can be made.
Problem resolution:

We have identified 2 possible ways forward.

1 – Leave the current RAN 1 description as is. Modify the RAN 4 [2] accuracy requirements to take the current physical limitations of RF technology into account. This would lead to a release 99 CR changing to requirement from ±5 % (0.2 dB) to ±39 % (2.1 dB).

The impact on system level performance will probably make this a useless measurement; therefore this is not useful way forward.

2 – Modify the RAN 1 [1] description to remove any reference to the way in which this is measured. 

Proposal:

Since the current text in [1] is not causing any system level problems, such as dropped calls, then it is proposed to only correct release 5. The impact of incorrect interpretation in release 99 would be a system that is approximately 7 times better in performance that necessary.  It has to be corrected in release 5 in order for RAN 4 to write a test specification. RAN 1 should approve the CR proposed in R1-02-0864.   Upon approval LS should be sent to RAN WG4.
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